SET-2

T .

Roll No.

Series GBM/2 FIE . 59/2/2

Code No.

gligneff e Hl IWYETH 6 JE-I8
W 3ayy o |

Candidates must write the Code on the
title page of the answer-book.

FHIAT S L A b 3 TA-IT | Hid I8 16 B |

JH-IF | gifg 719 1 R fgu U wig T B SW-gRas % gE-y8 W
ford |

FHRT SATe H A b 30 TATT H 27 T € |

AT T T I TT@AT & W 8 Ugel, T &1 /AT 7avd T |

T YIS HI UG o 1T 15 fire 1 T fean w7 | yeA-aw o T gatg
T 10.15 9 Top3T ST | 10.15 99 & 10.30 951 doh D had Y99 hl Uil
3R 38 AT & GHF d IW-YIEIhT T HIg IR g faE |

Please check that this question paper contains 16 printed pages.

Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

Please check that this question paper contains 27 questions.

Please write down the Serial Number of the question before
attempting it.

15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.

NSCICRCEIC]

POLITICAL SCIENCE
FeRe awer - 3 go2 SIfIHTT 3% : 100
Time allowed : 3 hours Maximum Marks : 100
59/2/2 1 P.T.O.




Wﬁﬁw:

(V)
(ii)

(iii)

(iv)

(v)

(vi)

(vii)

qY yv 7 7 &

97 Gl 1 -5 a% Jc9% Y97 Ueh 37 &1 & | Yed%b Y97 &1 I 20 VsG] @
e 787 &1 =T |

97 &I 6 - 10 7% I 97 g1 3] 7 & | Iod% J97 F7 I 40 Vs3] §
31ee 787 &1 =T |

97 G 11 - 16 7% A% J97 9 3] H71 & | I9% 97 &7 I 100 5]
& 37fe 7&7 g7 =ET |

J97 g7 17 - 21 7% Icd% J97 Gid 37h] &7 & | Iedeb 97 &1 I 150 Ieg]
& 37fers 7&7 T =T |

Yo7 &I 21 FEE W STHRG Fo7 & | 39% I 379 FR-GrEaw 7
ferf&T |

J97 G&IT 22 - 27 T odh Yo7 B: 3H] 7 & | Jod% Y97 & 3K 150 Jsal
& 37feeh 787 T =T |

General Instructions :

(V)
(ii)

(i11)

(iv)

(v)

(vi)

(vii)

59/2/2

All questions are compulsory.

Questions number 1-5 are of one mark each. The answers to these
questions should not exceed 20 words each.

Questions number 6 - 10 are of two marks each. The answers to these
questions should not exceed 40 words each.

Questions number 11 - 16 are of four marks each. The answers to these
questions should not exceed 100 words each.

Questions number 17 - 21 are of five marks each. The answers to these
questions should not exceed 150 words each.

Question number 21 is a map-based question. Write its answer in your
answer-book.

Questions number 22 - 27 are of six marks each. The answers to these
questions should not exceed 150 words each.



1.  Toermsiia qen 0 foefaa <o o fou smegfehentor 1 @ o7ed 3 2 1

What does modernisation mean to the developing and underdeveloped
countries ?

2. ‘mife AN T T AN B 2 1
What is meant by ‘Shock Therapy’ ?

3. Ayl o URUTHEGEY, YR AEarsti i 3udsy USHIR & AU AT & hls
21 3eTEw AT | oxl=g

2

Give any two examples of new job opportunities available to Indian
women as a result of globalisation.

4., Y8 9 % 9 A AU MU Hae AEmed & (e @ i e 9 9id
TR gRI T ‘gfeem afgen ifafm, 1986° gl de ~I=ETa o ? 1

How far was the Government of India justified in passing the ‘Muslim

Women Act, 1986’ that nullified the Supreme Court’s judgement in
favour of Shah Bano ?

5.  MGAN (2&r®) hl TTaAT i hi TS oft 2 1
Why was ASEAN established ?

6. I3 I I o g HINT foF wra 1 Fawfeh @i sga & A=iien ao
gd-gqrat B | 2x1=2

Give any two examples to prove that the constitutional framework in
India is very flexible and accommodative.

7. W A’ 9 fen e safaqat 1 g9 A9, TR B % 9 fe e e /qe

%G1 T qifeh o gl 4 4Xé=2
TIEY A’ &Iy ‘B’
(%) . HES G) Tt i 9l 1 ugen gy W
(@) . (i) foeTeEt § neag-he WieH e
YR A ATl
(M) Y I (i) U fce™ goamsft & &9 4
Tsgafd sl FATE oI T Sfia- JTelT
() RSl gEm (iv) R wror 3 T el gt folieh
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Match the personalities given below in column ‘A’ with the
statements/facts given in column ‘B’ to make them meaningful :

Column ‘A’ Column ‘B’

(a) K. Kamaraj (1) First Prime Minister belonging to
a non-Congress Party

(b)  V.V.Giri (i1)  Introduced Mid-Day Meal
Scheme in schools

(c) Karpoori Thakur (i1i)) Contested and won Presidential
election as an independent
candidate

(d)  Morarji Desai (iv)  Strong opponent of the use of
English language

g T | 3T 1 &I HRV &1, 31 foamamsti o1 3g@ HIf | 2x1=2

Mention the two ideologies which were involved in a major conflict during

the Cold War era.

forfesr v <5 <1 Tl <A1 SFaT St 1947 § TqedT fead des oft gar 98 on fom 9
ARG T Teh YT & AT UTTehEd™ o1 3N &= 2 39 Tidi o Al 1 3g@ it
SIS | 1+1=2

Why did the people of two provinces of British India not know at all, even

on the day of independence in 1947, whether they were a part of India or

Pakistan ? Also, mention the names of the provinces.

A9 HEl Ieh HGHT & fob STHLHYHR hl Tgae] qo1 gH-ue §&hid TS i
HeJuor 1 g8 ? 2 2
How far do you agree that the plural and secular culture of Jammu and

Kashmir is still largely intact ?



11.

12.

13.

14.

15.

16.
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I g T BH % 99, WRA-=SH @edl # ¢ Rl IR Aew@qul S
1 JUH HINT | 4x1=4

Describe any four significant changes in the Indo-China relations that

have taken place since the end of Cold War.

fova S o forgl IR ST &1 9uie HIY | 4x1=4

Describe any four functions of the World Bank.

Jvdftertor 3 fopd yhR R fava § Sma &1 9 TeWE ¥ wie fo ® 2 smen
ST | 4

How has globalisation created an intense division of opinion all over the

world ? Explain.

1970 % Tk § TN T T SUTAehT & Hig U fohdl 1 413t sl IR
I | 2+2=4

Highlight any two lessons which we have learnt from the National

Emergency imposed during the 1970s.

1885 § Th CAd TYE o €9 H 4 3IgWE ¥ TH, Th WIS

fraeRIcHeh TTasYA & &9 H e 5 faepfed g3 2 4

Right from its origin in 1885 as a pressure group, how did Congress

evolve as a social and ideological coalition ?

1947 ® faurem 6t Ufshan & RO, YRG qAT UIfehea™ Al o TH 33 IR
T HISTFT T IR HIT | 4x1=4
Highlight the four major difficulties faced by both India and Pakistan due

to the process of partition in 1947.

5 P.T.O.
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(i) ST 3@ ¥ 39 &I AE ! IgaH shitve, 8 Tgdfta a=adts I
A FAT(Yh TR TMEfed i 7% off ?

(i)  TUH GFIIEE AT % A hH &F H =IaH TMT 1 IATee foham T
HI AT ?

(iii) VoM JoE¥l AN & WG HIH-8 e I8 A & b 390 HY a0
Y Fetq fawa W s feam mm or 2 1+2+2=5

59/2/2 6
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Study the bar graph given below carefully and answer the questions based
onit:

Allocations in the First and Second Five Year Plans (in %)
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Major heads of development

1) Identify the major head from the above graph which has been
allocated the maximum funds under the Second Five Year Plan.

(i1) Which area was allocated the minimum funds under the First Five

Year Plan and why ?

(111) Which allocations in the First Five Year Plan show that it laid
emphasis on agriculture and related subjects ?

7 P.T.O.



Fig:  Hrkiiad e &aet gearaa ahentaat & 1079, 397 &1 17 @& €9 W E

Note :

18.
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The following questions are for the Visually Impaired Candidates only,
in lieu of Question No. 17 :

(17.1)
(17.2)

(17.3)

(17.1)
(17.2)

(17.3)

ferehfed RIS & = 3Tfio 8 2

grasiteh &7 o fohral g AT 1 3gQ HINT |

ORd g0 39as s fufya srofeyawen & fordl @ oWl Rl S9ITR
HIT | 142+2=5

What is meant by decentralized planning ?
Mention any two advantages of public sector.

Highlight any two benefits of the mixed economy adopted by
India.

frafefiea 3G 1 =IMYEs JTeRE HINT a9 36 W nemia = fdu o
Qﬁ%ﬁ'{?ﬂﬁm:

TGRSR qRAISHT o Jdd T 98-3evdiy fawret afg sa 1 &

@ | STt GHeel 1 A1 § foh 38 HI 8 [oRId % T §gd o foed dfed
A verE T § fiH % e, R ok faeieft 6 Icared s gigen gRen wuE
ST EehTf QT Y 6l U | OMCHS FGiadl s | &g T 70T ITAAEE 36
aa @ off e et I @ off TR sHa Wi iR g@ i SAuere W siHy
SR ST "R | SEaTfad sty o fwfor & wefYa TSl % 245 Ma g9k & |

3 @

g | 37q: JHIfIA Tl o AT S8 TG ANl oh JHATE hl Gel qa8 I8l

T hRIhdiat 4 ISHT |

(1)

(i1)

(iii)

Sy @ folig 4 fpu I arel T9d 9 fohm TR o 3TTEeH 1 9 9RO
fepar 2

MG AT F@ & IS W 3THIT A S AT bl 70 A9 F= 7T
T ?
39 91d I 4 § T@d g % 245 76l w1 S g R, st w6 fmin

{1 hal doh 3fd & ? 1+2+2=5




Study the following passage carefully and answer the questions based on
it that follow :

Sardar Sarovar Project is a multipurpose mega-scale dam. Its
advocates say that it would benefit huge areas of Gujarat and the three
adjoining states in terms of availability of drinking water and water for
irrigation, generation of electricity and increase in agricultural
production. Many more subsidiary benefits like effective flood and
drought control in the region were linked to the success of this dam. In
the process of construction of the dam 245 villages from these states were
expected to get submerged. It required relocation of around two and a
half lakh people from these villages. Issues of relocation and proper
rehabilitation of the project-affected people were first raised by local
activist groups.

1) What form of agitation did the protests against the dam take ?

(i1))  Why have benefits like flood and drought control been called as
subsidiary benefits ?

(iii) Since 245 villages were expected to get submerged, how far is the
construction of the dams justified ?

19. ffafad 3G #1 eamydes e HIfNT qen 38 W gia = fou ™

Qﬁ%?ﬁ{aﬁm:

gugt & 9 H g9 o wig off gferor ulen % s@ Qw9

3B IMMUF Jhg R 7Ha @ & I TR Hl FEA foham 7 |

SHHEAT W Jg- W THAAEH 0 L Ao foehresia o

I X TH 7 | T TRET o < H FEH U8l T oW A F AT

JITEAT T IGRIB TRAT | T8 g | oA o STaSG, s Hral |

T W 1 UG AT Tehel TR 3cUTE S0 U | ded S9Te R |

JCEAT GUY o FHATETAl bl AR Wl 38 I I AlhdiHeh TSTedarel
HrEE T B

() 39 3gWr ¥ fopq <o o SR H == 6T TS B 2

(i) 39 3G ¥ HAYUAd ¥ hl q HANUS Hew@qUl Ul hl IgaH
HIfT |

(iii) 39 <¥ H B A 8 g AT ARk FEN hl Fhfa = off ? 142+2=5

59/2/2 9 P.T.O.



Study the following passage carefully and answer the questions based on
it that follow :
In spite of the ongoing conflicts in this country of South

Asia, it has registered considerable economic growth and
recorded high levels of human development. This country was
one of the first developing countries to successfully control the
rate of growth of population, the first country in the region to
liberalise the economy and it has had the highest per capita
Gross Domestic Product (GDP) for many years right through
the civil war. Despite the ravages of internal conflict, it has
maintained a democratic political system.

1) Which country has been referred to in this passage ?

(i1))  Identify the two most important achievements of the country
referred to in this passage.

(111)) What was the nature of the civil war and the internal conflicts of
this country ?

20. THfRad 3G 1 SAHYES AF HINT qA 360 W A9 = fqu M
I & I éli\ﬁq :

gl A g o SNH SHI &1 TSSUA1 o s Yfdglgal SHIG T8l 83
off, 31 SR TH-gAL & Tfd ¥R hI BT H QM el 3 W SRR ST T
HR AR g o I R Hid @ | S0 & 99 F6R 1 g 8 99 & 6
fore STl 7T T |

GHI <1 TR 39 910 3l 903 & ¥ o6 T30 & STeg Ig & 9l ¢ |
(i) g fae et % am fafau |

(i) BERW H WP THEG Dl g Uhd b [0 AEIH FA G0
ST 8 ?

(iii) EIH o FTESG Nl g hY & Hohdl @ ? 1+42+2=5

59/2/2 10
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Study the following passage carefully and answer the questions based on
it that follow :

Since the Cold War did not eliminate rivalries between the two
alliances, mutual suspicions led them to arm themselves to the teeth and
to constantly prepare for war. Huge stocks of arms were considered

necessary to prevent wars from taking place.

The two sides understood that war might occur in spite of restraint.
(1) Name the two rival alliances.

(i1)) Why were huge stocks of arms considered to be necessary to
prevent war ?

(iii) How could war occur in spite of restraints ?

ferea & fou ¢ weHifass t@rAmfm 4, g @), @), ©, DT @ g0
Zoie Mu § | AN & 7S I W GBIl ¥ g YgEnY a9 9 EEl A,
TN Sl TS AN shl ShH GEIT AT FESTRG 318 o |1, & TS dTieTehl
IER, T ITR-Yfeaert # fafan 5x1=5

TN <l TS AR
1 HY-G&IT

graf-ad e | 9 kT A

(i)

(i1)

(iii)

(iv)

v)

() 39 g oW H A aTel SN o aife e 9% % § |

(i) 8 2N &l M Tehict W 1987 H Hegafd Je= <l 3 |

(i) F8 o LheH & W S TH AT S § T g H I 83T 2 |
(iv) 9 <91 H TN 8 AT HIYR ATHeh Jorare! &d g |

(v) 39 3 % YR shl ST SHTaat shal SI1aT 8 |

11 P.T.O.



In the given political outline map of the World, five countries have been
shown by @, , @, @ and @ With the help of the information given
below, identify them and write their correct names along with the serial
number of the information used and the related alphabet as per the

following table in your answer-book :

Sr. no. of the Related Name of the
information used Alphabet country

(1)

(i1)

(iii)

(iv)

v)

(1) This island country is inhabited by the tribals known as

Polynesians.
(i)  The country where Kyoto Protocol was agreed upon in 1987.

(iii) This country is facing a dispute related to the construction of dams

on the Euphrates river.
(iv)  About ten lakh Mapuche indigenous people live in this country.

(v)  Indigenous people of this country are called Scheduled Tribes.

59/2/2 12



For question no. 21

I F. 21 % fog

SRk} bab)
eonnod adTdom
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Note :

22,

59/2/2

el 397 &aet giEaniaa ghemaal & o, Jv7 G&qr 21 & T |

The following questions are for the Visually Impaired Candidates
only, in lieu of Question No. 21 :

(21.1) HeraTE fohre Ed & ?

(21.2) FeraTERT I fhegl q STl o AW foTRIU qem Sarse fob o fopa <umi
HTEd @ ?

(21.3) fIva W & goranfe i g |in w2 2 142+2=5

(21.1) Who are called indigenous people ?

(21.2) Name any two tribes of indigenous people and the countries

where they live.

(21.3) What is the main demand of the indigenous people all over the
world ?

R ¥ fafauar & w99 % IEgH o U Alehdifeh gfeeahiv i 79 % AT

%1 JUH hHIT | 6
arera

YA § Tesed o I 8 w1 AR 7 2 foh uftfeufaai % wwror I afEdA

TR SR K ? 2+4=6

Describe the advantages of the democratic approach to the question of

diversity in India.

OR

What is meant by ‘Era of Coalition’ in India ? What circumstances led to

this change and how ?

14



23.

24.

25.
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JUTA | SATehad o ITHT O HEftd, 2006 T o HeATshH 1 gOeq SHifsu | 6

HAYAT
I T (3.9,) I Th AT TS | Teh Ui T o &9 H foehfda
H o e IoerR fohedl &9 yg@ wrent @1 faveyor hifs | 3x2=6

Examine the sequence of events related to Nepal’s transition to
democracy up to 2006.

OR

Analyse any three major factors responsible for evolving the European
Union (E.U.) from an economic union to a political one.

I TS GRAT UG shl AT 1 quid hIfore | geen aieg o Temrft aeet aun

sl wewn w1 fou M foiieeseRt § @ ge o B 2 3+3=6
HAYAT
A s GL&TT WHITT o fohral o1 TH@ Tcehi ol UM T, | 3x2=6

Describe the composition of the U.N. Security Council. What is the major
difference in the privileges given to the permanent members and the

non-permanent members of the Security Council ?

OR

Describe any three broad components of India’s security strategy.

25 4, 1975 ! YA H TC T UTTRIA & [0 ITGRT hal I aTe

gifeafaat o1 fogeiwor S | 39 it T °, Ul BT ST ST hal

T 3t o ? 4+2=6
AT

1967 Wl §HT TGl U= WA H §U HEwaqUl Salal ol Wee HIve | 6

Analyse the circumstances which are said to be responsible for the

imposition of Emergency in India on 25th June, 1975. In your opinion,
how far was this imposition justified ?

OR

Examine the significant changes that India underwent after the
Lok Sabha elections of 1967.

15 P.T.O.



26.

27.
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ST 8% o Aqcd H 1946 € 1964 Toh WRA i foc Hfd 1 oA

%”t_ﬂQl 6
AAAT

AT o TSTHITAeh Aqcd o fohel TE WA <t fager ifa sl ywifea foram 2 wia &

3TN <hl FERAT § 38 TS hiforu | 6

Evaluate India’s Foreign Policy from 1946 to 1964 under Jawaharlal
Nehru.

OR

How did the political leadership of India affect its foreign policy ? Explain
with the help of examples from India.

i g < SRH BI-BI <V TGl o HgAM o €9 H FhE YR HE=H

9 2 Tqee I | 6
T

qead! difodd §9 | Hifodd s¥aed1 6l fhgl ©: ThRIcHe faRINdrsti sl 3R

IR | 6x1=6

How were the smaller states helpful to the Super Powers as their allies
during the Cold War ? Explain.

OR

Highlight any six negative features of the Soviet System in the erstwhile
USSR.
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